Financial, Treasury and Forex Management 373

Roll No. .......ccceuuevennnn.
Time allowed : 3 hours Maximum marks : 100
Total number of questions : 7 Total number of printed pages : 7

NOTE : 1. Answer FIVE Questions including Question No.l which is compulsory. All
working notes should be shown distinctly.

2. Tables showing the present value of %I and the present value of an annuity of
<1 for 15 years are annexed.

1. Comment on any four of the following :

(1) It is not always necessary that inventory is held for smooth manufacturing and sales
operations.

(i) Capital rationing does not always lead to optimum results.

(i) Corporate taxation creates incentive for advancement to the company by utilising
borrowed funds for financing its growth schemes.

(iv)  Financial gearing is a double-edged sword.

(v) Financial policy and corporate strategy are most significant concerns of top
management.

(5 marks each)

2. (a) Ash Enterprises Ltd. generated the following forecast in real terms for a capital budgeting

project :
Year-0 Year-1 Year-2
(T in ’000) (T in ’000) (T in ’000)
Capital expenditure 1,210 — —
Revenue — 1,900 2,000
Cash expenses — 950 1,000
Depreciation — 605 605

Ash, the President estimates the inflation to be 10% per year over the next two years.
In addition, Ash believes that the cash flows of the project should be discounted at the
nominal rate of 15.50%.

Required (Apply tax rate of 30%) —

(i) Workout NPV based on normal cash flow technique.
(i) Workout NPV based on real cash flow technique.
(10 marks)
2/2011/FTFM P.T.O.
3731



373

(b) Prakash Motors Pvt. Ltd. purchases 9,000 spare parts for its annual requirements ordering
one month usage at a time. Each spare part costs I20. The ordering cost per order
is T15 and the carrying charges are 15% of unit cost. You have been asked to suggest
the most economical purchasing policy for the company. What advice would you offer
and how much would it save for the company per year ?

(5 marks)

(c) Following are the details regarding operations of Radiance Enterprises Ltd. during a period
of last 12 months :

¢
Sales 12,00,000
Selling price (per unit) 10
Variable cost (per unit) 7
Total cost (per unit) 9

Credit period allowed to customers is one month.

The company is considering a proposal for a more liberal credit by increasing the average
collection period from one month to two months. This relaxation is expected to increase
sales by 25%. You are asked to advise the company regarding adoption of new credit
policy assuming that the company’s required rate of return on investment is 30%.

(5 marks)

3. (a) The following data relate to Intel Projects (India) Ltd. :
Year ending 31" March Net Earnings Per Share Net Dividend Per Share

(<) (<)
2006 32 17.50
2007 28 18.50
2008 26 20.00
2009 26 21.00
2010 24 22.00

There are 10 lakh equity shares issued and majority of these shares are owned by private
investors. There is no debt in the capital structure of the company.
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The company has been experiencing difficult trading conditions over the past few years.
In the current year, net earnings are likely to be %2.20 crore, which will be just sufficient
to pay a maintained dividend of 322 per share.

You are required to comment on the company’s dividend policy between 2005-06 to
2009-10; and on its possible consequences for earnings.
(6 marks)

(b) Hi-Fi Builders Ltd. needs to acquire the use of a crane for its construction business.
The crane if purchased outright will cost ¥10,00,000. A hire-purchase and leasing
company has offered the following two alternatives :

Hire-Purchase : 32,50,000 will be payable on signing of the agreement. Three annual
installments of ¥4,00,000 will be payable at the end of each year starting from year
one. The ownership in the crane will be transferred automatically at the end of the
third year. It is assumed that the company will be able to claim depreciation on straight
line basis with zero salvage value.

Leasing : 20,000 will be payable towards initial service fee upon signing of the lease
agreement. Annual lease rent of I4,32,000 is payable at the end of each year starting
from the first, for a period of three years.

The company is in 35% tax bracket and its discount rate is 20%. Should it hire-purchase
or lease the crane ?

(8 marks)

(c) How do firms manage economic risk due to fluctuations in forex market ?
(6 marks)

4. Distinguish between any four of the following :

(i) ‘Control need of widely-held company’ and ‘control need of closely-held company’.
(i)  ‘Capital structure’ and ‘financial structure’.
(ii1)  ‘Finance lease’ and ‘sale-and-lease back’.

(iv)  ‘Net income approach to capital structure’ and ‘net operating income approach to
capital structure’.

(v)  ‘Financial risk’ and ‘business risk’.
(5 marks each)
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S. (a) A Portfolio Manager has three stocks in his portfolio. Following information is available
in respect of his portfolio :

Company Investment S
(<)

X Ltd. 6,00,000 1.3

Y Ltd. 3,00,000 1.4

Z Ltd. 1,00,000 0.9

Expected return on the market portfolio is 15% and the risk free rate of interest is 6%.
On the basis of Capital Asset Pricing Model (CAPM), compute the following :

(i) Expected return of the portfolio; and
(i) Expected B of the portfolio.

(8 marks)
(b) The following data is related to X Ltd., Y Ltd. and Z Ltd. for the current financial
year :
X Lid. Y Lid. Z L.
Variable cost as a % of sales 70 75 50
Interest expense (¥ ) 20,000 30,000 1,00,000
Degree of operating leverage 5:1 6:1 2:1
Degree of financial leverage 3:1 4:1 2:1
Corporate tax rate 30% 30% 30%

You are required to prepare their income statements.
(12 marks)

6. Unichem Ltd. sells its products on a gross profit margin of 20% on sales. The following
figures and ratios are extracted from its annual accounts for the year ended 31%* March, 2010 :

Sales for the year (all credit) $40,00,000
Fixed assets turnover (Cost of goods sold basis) 1.6
Stock turnover (Cost of goods sold basis) 8
Liquid ratio 1:1
Current ratio 1.8 : 1
Debtors collection period 1 Month
Reserves and surplus to share capital 0.6 :1
Capital gearing ratio 0.5
Fixed assets to net worth 1.25 : 1
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On the basis of above details, you are required to prepare —

(i) Balance sheet of the company; and

(i) The statement showing working capital requirement, with a provision for contingencies
@ 10% of net working capital.

(20 marks)

7.  Write notes on any four of the following :
(i) Forfaiting
(i)  Financial distress
(i) Cost of retained earnings
(iv)  Advantages of commodity trading
(v)  Services provided by venture capital fund.
(5 marks each)

(@]
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